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General Instructions :
Read the following instructions very carefully and strictly follow them :

(i)
(ii)

(iii)
(iv)
(v)
(vi)
(vii)

(viii)

(ix)

6LBI2 | 3

This question paper comprises five sections —A, B, C, D and E. All questions
are compulsory.

Section A — Question numbers 1 to 20 are very short-answer type questions,
carrying 1 mark each. They are required to be answered in one word or one
sentence each.

Section B - Question numbers 21 to 24 are short-answer type questions,
carrying 3 marks each. Answers to each of them should not exceed 100 words.

Section C - Question numbers 25 to 27 are long-answer type questions,
carrying 8 marks each. Answers to each of them should not exceed 350 words.

Section D — Question numbers 28 to 30 are source based questions, carrying
6 marks each.

Section E — Question number 31 is a map question that includes identification
and location of significant test items. Attach the map with the answer-book.

Answers should be brief and to the point also the above word limit be adhered
to as far as possible.

There is no overall choice. However, an internal choice has been provided in
2 questions of one mark, 1 question of three marks, 3 questions of eight marks
and the map question. You have to attempt only one of the choices in such
questions.

In addition to this, separate instructions are given with each section and
question, wherever necessary.

SECTION A I1x20=20

Who among the following rulers issued the first gold coins ? 1
(A)  The Satavahana rulers

(B) The Kushana rulers

(C)  The Gupta rulers

(D)  The Shaka rulers

Who among the following was the first ruler to inscribe his messages to

his subjects and officials on rocks and stones ? 1
(A) Chandragupta Maurya

(B) Samundragupta

(C) Asoka
(D) Bimbisara
Who among the following composed the Arthashastra ? 1

(A) Megasthenes
(B)  Ajatashatru
(C) Kautilya

(D) James Prinsep
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4, Who was James Prinsep ?

5. Identify the following image and give it an appropriate title :

1

- B

Note: The following question is for the Visually Impaired Candidates only, in
lieu of Q. No. 5 :

Who was the twenty-fourth tirthankara ? 1
6. Mention one strategy adopted by Brahmins to enforce the norms of Varna

Order. 1
7. State the ideal of patriliny. 1

OR

State the ideal of matriliny. 1
8. Name the French king to whom Bernier dedicated his major work. 1
9. Which of the following empires commissioned Ain-i-Akbari ? 1

(A) Humanyun’s empire

(B)  Akbar’s empire

(C)  Shah Jahan’s empire

(D)  Aurangzeb’s empire
61/B/2 5 - PTO.




10.

11.
12.

13.

14.

15.
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IV. Jghid o GRIA ST A @R st ane feam |

T HY H F PTG TR E ?
(A) IRII

(B) I3 III

(C) II3RIV

(D) II3RIII
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10.

11.

12.

13.

14.

15.

%ﬁ

Why was the period between the sixteenth and seventeenth centuries
marked by a remarkable stability in the metal currency in India ? 1

(A)  Due to aid given by Islamic countries to India

(B)  Due to the usage of new extraction technology of metals
(C)  Due to the phenomenal availability of silver

(D)  Due to the expansion of trade

Give one example of the Jajmani system prevalent in the Mughal period. 1

Who, among the following, was the author of Akbar Nama ? 1
(A)  Gulbadan Begum

(B) Sadullah Khan

(C)  Abdul Hamid Lahori

(D) Abu’l Fazl

Read the following information based on the policy by Akbar. Identify

and name the policy. 1
¢ Unity and peace among all human beings.
e This policy was implemented through state policies.
e All the religions were given respect.
¢ Nobility was recruited from diverse ethnic groups.

Give one reason for Ibn Battuta being known as a ‘Globe-Trotter’. 1
OR
Why did the Italian doctor Manucci settle in India ? Give one reason. 1

Study the following statements very carefully :
I Iranians got high offices during the reign of Jahangir.

I1. Jahangir’s queen, Nur Jahan was an Iranian and politically
influential.

III. Iranians were very capable officers.

IV. Iranians accompanied Jahangir during warfare.

Which of these statements are correct ? 1
(A) TandII

(B) TIandIII

(C) ITandIV

(D) II and III
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17.

18.

19.
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(©) (A)FE g, =g (R)F&l T8l 2 |
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(A) I, I3 I
(B) II, III 3R IV
(C) I III3R IV
D) LIIRIV

fergEdTt =l WA <l Tsg WINT ST | HETeHT el =i &< &l off 2 foebed gfaw | 1
(A)  gfeTor YRA o <N 399 Hehd 9 |

(B) I8 AT fafy & wafera off |

(C) TUH IgHIEDIIh o o [T I8 SIgHERId aTel] Wi Iueh off |

(D) ¥g feoeht o SaTamor &Y Wi of |
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16.

17.

18.

19.

Given below are two statements, one labelled as Assertion (A) and the
other labelled as Reason (R).
Assertion (A) : Separate electorates was a “poison that has entered into
the body politic of our country,” declared Sardar Patel.
Reason (R): It was a demand that had turned one community against
the other, divided the nation and caused bloodshed.
Which one of the following is correct ?
(A)  Both (A) and (R) are correct and (R) is the correct explanation of
(A).
(B)  Both (A) and (R) are correct, but (R) is not the correct explanation
of (A).
(C) (A)is correct, but (R) is not correct.
(D)  (A) is not correct, but (R) is correct.

Why was the ‘Objectives Resolution presented by Jawaharlal Nehru in
the Constituent Assembly considered a historical proposal ?

Consider the following statements regarding the impact of American
Civil War on the Deccan countryside.

I The ryots in the Deccan villages suddenly found access to limitless
credit.

I1. They were given ¥ 100 as advance for every acre they planted with
cotton.

III.  Sahukars were not willing to extend long-term loans.

IV.  During the period of American Civil War, the cotton production in
Bombay Deccan expanded.

Which of these statements are correct ?
(A) I,II and III

(B) II, III and IV

(C©) L IIlandIV

(D) L IIandIV

Why was Mahatma Gandhi interested in making Hindustani the national
language of India ? Choose the option.

(A)  People from South India also approved of it.
(B) It was related with Devanagari script.
(C) It was a multi-cultural language suited for a multi-cultural country.

(D) It was the language of the common people of Delhi.

6LBI2 | 9 PTO.




20.

21.

22,

23.

24.

25.

26.

TIftH-3-I8 &7 FTdl o foIe eyl F=i o ? 1

LCLCRC) Ix4=12

HETHRT T H ‘STEYRd AN 39T e v St 9 ? i 3a8t0n digd 95

$||3Q| 3

AT T W gfdd =T 1 Iooi@ hifole R Fa13U TRl AEEAN

A I AT I9TE IS | 2+1=3

A H IR YOIt 19U §67 Sqa A Tohd FehR fohalm 7 2 ¥se iU | 3

1947 ® Jufasht smem & foefl Tadsar 6 geft fawsm & fZan o s&ar &

forE TepR sl ue T8 oft 2 fagamur hifsw | 3
YT

3 Ig hd Hi=d & foh 1920 3R 1930  Tehi § Icqa a-ma, 19 TR

i areerfes gt & wror 9 2 favaye Hifsu | 3
QUe T 8x3=24

SIS qUEEg3Tl 1 ATeht0] ohid H YUaraidgl o HH- 378 THEATST i e
HIRTT | g TR AT o e | qUaaiagl 6l SR Hl Sooid T | 4+4=8

AYAT
Shi-EH TR S AR shl WRATT qUde H Y[R sl same i | 4+4=8
TEAT HE H TR Aldgd] Tel doh Yh i IR TSI & o9 | Fa4l Hl q0H
HIT | 8
AT
AT R TR i 9 2 TST & 1Y 37k 8] T IUH hifoT | 2+6=8
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20.

21.

22,

23.

24.

25.

26.

- B

Why was ‘Damin-i-Koh’ area important for the Santhals ?

SECTION B 3x4=12

How did the untouchables lead their life during the Mahabharata
period ? Explain with three examples. 3

Mention the incident that took place at Chauri-Chaura and what was its
impact on the Non-Cooperation Movement. 2+1=3

Explain how Ibn Battuta described the system of communication in
India. 3

Analyse how the joy of independence from colonial rule in 1947 was

tarnished by the violence and brutality of Partition. 3
OR
Analyse how do you think the tensions that grew during 1920s and 1930s
were the causes of communal conflicts among different communities. 3
SECTION C 8x3=24

Explain the problems faced by archaeologists in classifying the finds of
Harappan artefacts. Mention archaeologists’ interpretation of Harappan

town planning. 4+4=8
OR

Explain the role of Cunningham and John Marshall in Indian

archaeology. 4+4=8

Describe the relationship between the Sufis and the State from twelfth to

sixteenth centuries. 8
OR

Who were the Alvars and Nayanars ? Describe their relationship with the

State. 2+6=8
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27. fafesr @R oo 1857 & fagie &l T & fou 331W U A w1 favawo

$ifre 3fit fgifet it werar i araT hi samen Hifv | 4+4=8
AYAT
AT o o= HATS T8 A%dTa (8 TR 1857 & fagig &1 IR & 2 < 4
ThaTEl H F41 fogard feran 2 Tuse HifSw | 4+4=8
Tus ¥ 6x3=18
28, frm=fafea 3gmor o1 wEgigEs st Hifve it 3u% = fqu mu et %
?ﬂ'{]%ﬂo@'Q:
TTHOT Qe AT TR U
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3Eeh! i Tfirg ImR it mfee 39 kR & %
T W TR SR W A % e, fasarett (farfewr) 4 aft e
U 31EX 1 IS Tear | ) Wk W et 3% e fen L., | @ @ of fent
T HYH T A Ffe <k doh el hl g TSHh Jguiy o @ | fH
ZN — SWd, qeham qon feeelt — el off fagifei & weat d 9. | 3@
gfcenel TR T UM o 71 A & AN o =gl I T 3§ T, AR
T T H gy 7R g, ... 37 <fFi gRi @ gl R USRI S o |
Y o TEL VI Tial 3 awel H IR of I ATgEt IR

T SAIR Hd @ |
(28.1) U 3 & ! A Uer 2 o fafeaw | 2
(28.2) Taeifeat A fore TR 3T9A-319 k1 ST TR 3T I8i gl I 918 2 2
(28.3) 1 g IS ohl AR H Wicaneht s o 2 2
29. Trmfafed 3gror o1 dEyHigEs e i 3t 3us fi= fou o gt %
W%I’F@'Q:

HE oh FTER i gt
S g o IUSI hI ITh AT T Tepford feram 9 € waTeR % st A fomam |
TG A IJUCY HETHAT & €9 H J&qd fohT IATd o ST AT ATl TR hid
| I8 ISR I g7 A9 Teh UL ¥ foram 7w 2 | 39y HAead! A1
T FERHT 379 ufet Sl F=m8 o & fore awen @ §
3R |qUl fova o T&l & @eft @ greR & 9 a9 off g Ay T
BT, 9 F I8 T HS Jre I I | B TS | SE RERI 9og 8 TR
9 9 g9 8 ge o a9 4k g6 g, R 3 ft 1€, TR
HAM | 99 T fafean fioR @ 9% wtdfl 2 98 & § 39 99) 8 9%
FA 5 | F S-S B T A g (R W g, o A e s
3R fom1 g9 & e Aiedl 1 wg e foar...
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27. Analyse the steps taken by the British Government to suppress the
Revolt of 1857 and explain the vision of unity of the rebels. 4+4=8

OR

Examine how the rumours which were circulating among the people
became the basis of the Revolt of 1857. Why did people believe in the

rumours ? Explain. 4+4=8
SECTION D 6x3=18
28. Study the following excerpt carefully and answer the questions that
follow :

Escaping to the countryside

This is how the famous poet Mirza Ghalib described what the people of

Delhi did when the British forces occupied the city in 1857 :
Smiting the enemy and driving him before them, the victors (i.e.,
the British) overran the city in all directions. All whom they found
in the street they cut down ... For two to three days every road in
the city, from the Kashmiri Gate to Chandni Chowk, was a
battlefield. Three gates — the Ajmeri, the Turcoman and the Delhi —
were still held by the rebels ... At the naked spectacle of this
vengeful wrath and malevolent hatred, the colour fled from men’s
faces, and a vast concourse of men and women ... took to precipitate
flight through these three gates. Seeking the little villages and
shrines outside the city, they drew breath to wait until such time as
might favour their return.

(28.1) Give reasons why the British overran the city. 2

(28.2) How did the rebels escape themselves and where did they find
shelter ? 2

(28.3) Was it a vengeful act on the part of Britishers ? 2

29. Study the given excerpt carefully and answer the questions that follow :
The world beyond the palace

Just as the Buddha’s teachings were compiled by his followers, the
teachings of Mahavira were also recorded by his disciples. These were
often in the form of stories, which could appeal to ordinary people. Here
is one example, from a Prakrit text known as the Uttaradhyayana Sutta,
describing how a queen named Kamalavati tried to persuade her
husband to renounce the world :

If the whole world and all its treasures were yours, you would not
be satisfied, nor would all this be able to save you. When you die, O
king and leave all things behind, dhamma alone, and nothing else,
will save you. As a bird dislikes the cage, so do I dislike (the
world). I shall live as a nun without offspring, without desire,
without the love of gain, and without hatred ...

6LBI2 | 13




59 ATt 3 g@ 1 3 Hh 3§ A T 7, 91y A W YH B g,
STET 1 R Taad 350 gU ITe Sl g 9 g

39 foema U590 1 9@ & 36T g@i | T drel, sem owtargt
T, T doHT B HI quR ...

(29.1) Tt HATEA! 4 394 Ufd & T=IE A4 & ¢ = gueEn 2 ghe

IR | 2
(29.2) T G=AET o &9 § H=q fagia 3 fomr forefl wmenfie s=a1 & &

FT =TEd] ot 2 2
(29.3) F1 AT F=d & b T 1 39 9 ! T8 § $© =[5 off ? 2

30. ffefaa 3gror =1 Tayurigds rerem hife it 3a% = fou o ywat &

W%’f@?:
T(SIT 3R ST

foSTa TR o T8 g wmEe Hoied T (MEFRE 1509 — 29) 7 &R

T # sgmaeee TWE dQT W H T Hid @l | ST o fowd § 3e

for@n -
Th TS hl 4 FCUE Sl JURAT dMMET AR IMST I 36 ThR
YrcaTfea e aTfeq foh =g, gferRn, Wi, ded, Al qen 31 a&gedi &
ol R T AT FohaT ST |eb.... 38 Jag HEA1 =nree fob 37 foeeft foreni
58 qeHi, fuf a1 9BE B HET IFh ow H Iawh usdl B, I
Well-wifd qEHTA sl ST Heb... oL oV o AT, S BTl 3R 3=
ISl 1 AT Hid @, Dl U 93 H FATRL, AgH geht YT 3fad T

! T SRt TTH |1Y Fag HET AMM6T | THT i T I Feq ol off

TR GOl T T gt |
(30.1) TS = SR ! WeATZd H H FhE TR & fe@rs 2 2
(30.2) TS = Torgeft STl sl Famd <1 I =ma ? 2
(30.3) TSI HTHTSY i AR & il ATHI hl AT HINT | 2
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Those who have enjoyed pleasures and renounced them, move
about like the wind, and go wherever they please, unchecked like
birds in their flight ...

Leave your large kingdom ... abandon what pleases the senses, be
without attachment and property, then practise severe penance,
being firm of energy ...

(29.1) Examine why did the queen Kamlavati persuade her husband to
renounce the world. 2

(29.2) Why did the queen want to live as a nun without offspring and
without any worldly desire ? 2

(29.3) Do you think the advice of the queen to her husband had some
merit ? 2

30. Study the following excerpt carefully and answer the questions that
follow :

King and traders

Krishnadeva Raya (ruled 1509 - 29), the most famous ruler of
Vijayanagara, composed a work on statecraft in Telugu known as the
Amuktamalyada. About traders he wrote :

A king should improve the harbours of his country and so
encourage its commerce that horses, elephants, precious gems,
sandalwood, pearls and other articles are freely imported ... He
should arrange that the foreign sailors who land in his country on
account of storms, illness and exhaustion are looked after in a
suitable manner .. Make the merchants of distant foreign
countries who import elephants and good horses be attached to
yourself by providing them with daily audience, presents and
allowing decent profits. Then those articles will never go to your
enemies.

(30.1) How did the king show interest in encouraging trade ?
(30.2) Why did the king want to provide services to the foreign traders ? 2
(30.3) Explain the benefits of trade to the Vijayanagara empire. 2
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31. (31.1) WRa & f¢U MU TsHifos WaERE (T8 19 W) #, F=fafea =t
W%@@W‘cﬁﬁ?ﬁﬁw%ﬁaﬁ 1x3=3
i)  TENE — T foehfda gewTs queed
AAAT
TMSAhIST — T g JUed

(i) ST sterat fdeelt — gei o 3refA Ty
(ili) TGS — 1857 H IS o ML TR

(31.2) 36t Tl T <fi9 TAHT 1 A, B 3R C o ®9 4 3ifera foram o 7, <

TS ST W HE(Yd 8 | 378 UREHT I Ik HEl A 3k Hehe

i 7 TEreti w fafigu | Ix3=3
Fig:  [AElad 39T dac gieatiad qhemdal & 7 ¥, d. 31 F T WE
(31.1) 1857 & fagig & forgl fiH gl &1 oo ST | 1x3=3
YT
fehegl M Sitg Ul 1 Seai@ hif | I1x3=3
(31.2) TSI AT o bl dF gl o I faIRgu | 1x3=3
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SECTION E
(Map Based Question) Ix6=6
31. (31.1) On the given political outline map of India (on page 19), locate and
label the following appropriately : 1x3=3

1) Rakhigarhi — a mature Harappan site

OR
Nagarjunakonda — a Buddhist site

(i1))  Agra OR Delhi - a territory under Mughals
(iii) Lucknow - a city under British in 1857
(31.2) On the same map three places have been marked as A, B and C,

which are associated with the National Movement. Identify them
and write their correct names on the lines drawn near them. I1x3=3

Note: The following questions are for the Visually Impaired Candidates, only in
lieu of Q. No. 31 :

(31.1) Mention any three centres of the Revolt of 1857. Ix3=3
OR

Mention any three Buddhist sites. I1x3=3

(31.2) Name any three centres of the National Movement. Ix3=3

6L/BI2 17  PTO.
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